
= 
vdUF = 6017 
FuJUF =06'422 
BUFL =0403 
LAST ~VJEM • FIELD = 2 
rf'tJPH =30 . 

!-'ACK =0/0-114,1/0-114 

EMSK = v 
1EST =1-2 

fjJV) ,,/ 

TEST # 1 
TEST # 2 

TEST =0*2-17 

TE$T " 2 
TEST # 3 
TEST # 4 
TEST # 5 
TEST # 6 
TEST # 7 
TE-ST # 10 
TEST # 1 1 ' 

I TES1 ·n 12' 
TEST # 13. 
TEST # 14 
TEST # 15 
TEST # 16 
TEST,# 17 
TEST # 2 
TEST # 3 
TEST # ll 

TEST # 5 
TEST # 6 
TEST II 7 
TEST # 10 
TEST # 1 1 . 

TEST # 12 
TEST .# 13 

·TEST # 14 
TEST # 15 
TEST # 16 
TEST # 17 
TEST fl 2 
TEST # 3. 
TEST # 4 

. 1~ST ·# 5 I 

TES1 # 6 
TEST #' 7 
TEST Ii lit) 
TEST # 1 l 
TE?T ·# 12 


